5

FISEEMAFTROBERE O EIRK

BT 3 5K . BT IE 26 R % OVRIE £ 1k 3 ok ok i (i f7
HAE BB AED B M B B % it
i I N B 48 330 3
HE A 0 0
Rl A 45 Ik G 0 0
B T 3 R 0 AR (Hfir_:
e . " % . %
I 0 |a 2
17T
%D% % 5 % & % B &
W o [H o i OB b2 % % o % 8 &
fo M 0 LA ¥ F B 2
B A 0 B & % A
fle B¢t Ak 53/R s % % B =
BT % B Of), |# % % # =
Bk M 0 » W % B 2
B B 4% lw m x B &
F B 0 Pk i s L B
[ 4 /s it 1
Wil s L) (s R S R 5 — 19
oW F B 0% I B N % A B9 e
U 3 # 0 E iz B W ST T 3R IR 5 e
%Hiﬁﬁ%%ﬁi
28 z 19
/I 671 & i 3
u%%ﬁ@#@ (i
K 5 | B % | #moymoR | RBn CRIEfE) BT i
1t % 2 3 1 3 3 1 (10) 37
(2) FTEZR (i fir_
N S W s F | FOE | 2 o it
K 0 0 0




(3) 4= 1k &% oK (HAZ - )

ES) R SRl | FERAEE | 2 o &
(G5 £ 0 0 0 0 0
4 FAEFHROKN (HipL - )
7 5 R % . i i E S
@i%% ggig SWRE |—WRE | A (W OF | T F
0 5 0 0 0 0 2 3
5 fAANIFEHRT 7 A NFEIZ DT (HANL 1)
D (i D W (i
I S S LT EZB S (EBR) 9
IE % i 7 BEZEBS (R ¥R) 121
WO o [E M 8 * ® % E M A S 1
o - B 8| Z N ® % B 2 0
BO%E & W 11 B & % B 0
BB fE ik g8l |» m = B =2 0
BT % B 39|12 W % B =2 0
Bt B O | o [P 55 B AL 0
% s B i 3 /I g 131
Pk B il 8
O S 2
I S T 6
HoWm B R 1
AN 7 1 82 = i 313
E) 1 1~3I(CH0 HIFEIL. 15 M 5 4 T 5 o bk B 75 B o= %5 O D I & 17 - 1= 11 K
(BRFF R bor-bDrai, ) Thod,
2 S5IBITLIHHKIET. PME6F4H1IBBREOHKTH D,



